
Finding Percents of a Number (G)

Find the value of each percent.

20% of 2301 57% of 6499 32% of 4533 53% of 6097

63% of 7127 87% of 1699 53% of 4792 70% of 8549

25% of 495 52% of 5133 74% of 6501 2% of 5000

22% of 3316 51% of 9782 36% of 9356 15% of 8719

64% of 9154 63% of 4997 49% of 2912 42% of 4214

90% of 5207 25% of 5292 31% of 5683 8% of 9139

6% of 9520 7% of 5381 56% of 500 73% of 2468

37% of 4480 12% of 1473 17% of 6102 82% of 8898

4% of 6525 86% of 8798 97% of 5002 29% of 9524

95% of 2132 36% of 5416 59% of 7572 33% of 8746
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Finding Percents of a Number (G) Answers

Find the value of each percent.

20% of 2301 57% of 6499 32% of 4533 53% of 6097

= 460.2 = 3704.43 = 1450.56 = 3231.41

63% of 7127 87% of 1699 53% of 4792 70% of 8549

= 4490.01 = 1478.13 = 2539.76 = 5984.3

25% of 495 52% of 5133 74% of 6501 2% of 5000

= 123.75 = 2669.16 = 4810.74 = 100

22% of 3316 51% of 9782 36% of 9356 15% of 8719

= 729.52 = 4988.82 = 3368.16 = 1307.85

64% of 9154 63% of 4997 49% of 2912 42% of 4214

= 5858.56 = 3148.11 = 1426.88 = 1769.88

90% of 5207 25% of 5292 31% of 5683 8% of 9139

= 4686.3 = 1323 = 1761.73 = 731.12

6% of 9520 7% of 5381 56% of 500 73% of 2468

= 571.2 = 376.67 = 280 = 1801.64

37% of 4480 12% of 1473 17% of 6102 82% of 8898

= 1657.6 = 176.76 = 1037.34 = 7296.36

4% of 6525 86% of 8798 97% of 5002 29% of 9524

= 261 = 7566.28 = 4851.94 = 2761.96

95% of 2132 36% of 5416 59% of 7572 33% of 8746

= 2025.4 = 1949.76 = 4467.48 = 2886.18
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